Mrs. Gregory & Mrs. Postlethwuite's group — Bronze reasoning and problem solving

1a. Complete the calculation below. How
many different solutions can you find?
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1b. Complete the calculation below. How
many different solutions can you find?
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2a. Toby says:
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If 1 have 0.1 and
0.3, | need to
add on 0.7 to

make a whole.

L]

Is Toby correct? Explain why.
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2b. Mary says:

If | have 0.2 and
* 0.2, | need to
add on 0.8 to
make a whole.
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Is Mary correct? Explain why.
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3a. A toy bridge is Tm long.
Each toy car is 0.4m long.
Can 2 toy cars fit on the bridge?

How much space is left?

0.4m

oo

Tm

3b. A bottle of water holds 11I.
Each glass holds 0.3I.
Can the bottle of water fill 3 glasses?

How much water is left in the bottle?
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